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"H NMR (400 MHz, DMSO) & 8.15 (s, 1H), 6:80 (s, 1H), 6.72 (s, 2H), 6.22 (s, 1H), 3.68 — 3.59 (m,
12H), 3.57 (d, J = 4.6 Hz, 4H).

_~6.80
~-6.72
—6.22
67

66

66
3.65
63

62

57

56

1900
1800
1700

—1600

;1500
;1400
;1300
;1200
;1100

—1000 —1000

300 ~900

—800
600 -
~700

400 ~600

200 ~500

—400

300

—200

100

J _Jﬂ-J _,,J LJ..*L»JLL . Lo

4

o ©
S 0

& =100

—-200

1.00 —=
0.98 —=

—

T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T . T T T T T T T T T
16 15 14 13 12 11 10 9 8 7 6 5 4 3 2 1 (0] -1 -2 -3 -4
£1 (ppm)



